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1)

Which result is correct? Cross out the wrong numbers.

a) 71 + (−42) = -113 -29 29 113 b) 22 − (−87) = -109 -65 65 109
c) 11 − 74 = -85 -63 63 85 d) 14 + (−44) = -58 -30 30 58

e) 40 + (−47) = -87 -7 7 87 f) 88 + (−48) = -136 -40 40 136

2)

Which result is correct? Cross out the wrong numbers.

a) (−18) + (−37) = -55 -19 19 55 b) (−3) + 14 = -17 -11 11 17
c) (−4) + (−29) = -33 -25 25 33 d) (−30) + 40 = -70 -10 10 70
e) 13 − (−32) = -45 -19 19 45 f) 7 − (−22) = -29 -15 15 29
g) 25 + (−36) = -61 -11 11 61 h) (−10) + (−33) = -43 -23 23 43
i) (−15) + 11 = -26 -4 4 26 j) (−13) + (−18) = -31 -5 5 31

3)

Which result is correct? Cross out the wrong numbers.

a) 31 + (−46) = -77 -15 15 77 b) (−46) + 47 = -93 -1 1 93
c) 40 + (−17) = -57 -23 23 57 d) 33 + (−48) = -81 -15 15 81
e) 23 + (−5) = -28 -18 18 28 f) (−34) + (−32) = -66 -2 2 66
g) (−3) + (−44) = -47 -41 41 47 h) 8 + (−40) = -48 -32 32 48
i) (−16) + (−50) = -66 -34 34 66 j) (−26) + (−17) = -43 -9 9 43

4)

Which result is correct? Cross out the wrong numbers.

a) (−65) − 50 = -115 -15 15 115 b) 68 − 95 = -163 -27 27 163
c) 97 − (−29) = -126 -68 68 126 d) (−77) − (−35) = -112 -42 42 112
e) (−54) − 74 = -128 -20 20 128 f) 90 − 3 = -93 -87 87 93

g) 68 − (−3) = -71 -65 65 71 h) (−43) − 79 = -122 -36 36 122
i) 89 − 49 = -138 -40 40 138 j) (−64) − (−83) = -147 -19 19 147

Good Luck!
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